Fitting instructions

Make:

Audi
A4 ; 2007->

A4 Avant; 2008->

4932

Type:




ser.nr: Q ser.nr: Q

493280

M14x120 (10.9)] |
200Nm ‘

4932/5

M14x120 (10.9)

49321

M10x30(10.9)
65Nm

© 493270/08-09-2008/1

© 493270/08-09-2008/14



© 493270/08-09-2008/13

M14x120 (10.9)

4932/8
M10x35(10.9)
62Nm

M10x30(10.9)

€
\‘\_/

62Nm
30x14 L=14mm
s

e
T7BNm Excisting fixings
¥

M10x30(10.9)
62Nm

© 493270/08-09-2008/2



(6x) M10x30 (10.9)

(2x) M10x35 (10.9)

(2x) M14x120 (10.9)

(8x) M10 (10)

(2x) M14 (10)

(2x) M10

rq." (2x) 230x14 L=14mm

© 493270/08-09-2008/3

Outside bumper

132

ddle bumper|
180

i

!

Outside bumper

© 493270/08-09-2008/12



AZSNm

|[Excisting fixings |

© 493270/08-09-2008/11

Couplingsclass: A50-X

D-Value : 11,0 kN

=R ] /

© 493270/08-09-2008/4



NOTE:

* Should this installation process entail the cutting of the bumper — con-
formation MUST be obtained by the installation engineer of the custo-
mer’s acceptance prior to completion. Thule Towing Systems do not
accept responsibility for any matters arising as a result of this miscom-
munication.

All measurements are in mm!

HINWEISE:

* Die fiir das Fahrzeug zugelassene Anhéngelast ist den Fahrzeug Unterlagen
zu entnehmen. Bei Anderungen des Fahrzeuggewichtes muf} die hdchst-
zuléssige Anhéngelast gegebenenfalls aus dem D-Wert nachgerechnet wer-
den.

Auskunft hiertiber kann Ihr Fachhéndler oder der TUV geben.

* Elektrische Anlage gemap StVZO anbringen.

© 493270/08-09-2008/5

\\’ (2x) M10

@ 45Nm

|Excisting fixings|

ser.nr: Q

ser.nr: Q

(2x) M14x120 (10.9)

™= (2x) 030x14 L=14mm
& (8x) M10 (10)

(2x) M14 (10)

© 493270/08-09-2008/10




ER

I IS

© 493270/08-09-2008/6



© 493270/08-09-2008/7

© 493270/08-09-2008/8



